Trig Integrals 1

(1) Basic Integrals

J sinxdx = — cosx + ¢

SINX
J tanxdx :J —dx
COSX

cosxdx = sinx + ¢

sec xdx tanx + ¢

= —log|cosx| + ¢  OR log|secx| + ¢

J secxtanxdx = secx + ¢




(2) Complementary Ratios

U complementary trig ratio = —complement of the answer

Jcosxdx = sinx + ¢

J coseczxdx = —cotx + ¢
Jcotxdx = log|sinx| + ¢

J cosecxcotxdx = — cosecx + ¢

tan xdx = logsec x

0.the answer 18
minusSand the
vlement of sec 1s

cot x Wx = —log cosecx

cot is the complement @




(3) Squares of Trig Functions

J sin“xdx = %J (1 —cos 2x)dx

2
Jsec xdx = tanx + ¢

r.

Jtanzxdx = (seczx — D)dx

J

r.

J cotzxa’x =

J

Jcoszxdx = %J (1 +cos2x)dx =

(coseczx — 1)dx

x 1.
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> 4s1n 2x + ¢
=£—l SINXCOSX + ¢

2 2
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~+ -5 +

2 4 sin 2x + ¢

1

X
= — 4+ —cosxsinx + C‘J

(

2 2
J coseczxdx = —cotx + ¢
=tanx —x + ¢

= —cotx —x + ¢




c.g. (i)J cos” 3x dx = %J (1 + cos 6x)dx

X

=Z 4+ —sin 6x +
>t 2s1n 6x + ¢ )
. 4 3
(ii)J sInxcos 2x dx (iii)J SINXCOS XxdXx
1( "
= —| (sin 3x + sin( — x))dx 4 ;
2. — —J — SINXCOS™ XxdXx
[ 0
_1 (sin 3x — sinx)dx 4 70
2) _ { COS x}
:_cos3x+cosx+c 4 z
6 2

1( 1)
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